120

100

B0

60

40

20

0

Run 5185 quartetwise, Asyms0 (Raw): All

|

| o

| rIJ-I |

quartetwize_asymi

Entries 2977
Mean -0.2479
Std Dev 35.46

Tl
—-60

—40

—20

D

20

40

60

gHelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.000000)

Run 5185 quartetwise, Asyms0 (Raw): Beam ON, Laser ON

guamstwisa baami las! asymi

Entries 0
Mean 0
Std Dev 0

120

100

80

60

40

20

0

Run 5185 quartetwise, Asyms0 (Raw): Beam OFF

quarebwise_bsamd asyrb
B Entries 2977
— Ii Mean  —0.2479
| Std Dev 35.46
_I 1M | 1 | | | | | | d | | rlﬂ | | | 1 | | 1 | | |
—60 —40 —20 0 20 40 60
gHelNSamples0)|PosHelAceO/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.000000)
Run 5185 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
guamnshsiza boami lasl asymi
Entries 0
Mean 0
Std Dev 0




100

B0

60

40

20

Run 5185 quartetwise, Diffs0: All

i

1 |

guartetwise diff0

Enfries 2077
b ean 0.001381

Std Dev 01663

(] I |

-0.3

0.2

-0.1

0

0.1

0.2

0.3

PosHelAccO/PosHelNSamplesD - NegHelAccO/NegHelNSampleso

Run 5185 quartetwise, Diffs0: Beam ON, Laser ON

quanebwise_beaml_las? ot

Entries 0
Mean 0
Std Dev 0

100

B0

60

40

20

Run 5185 quartetwise, Diffs0: Beam OFF

| Il

quartetwiss_k=am0_difio

2877
0.001381
01663

Enirigs
Mean
Sid Dev

[ | |

-0.1

0

0.1

0.2

0.3

PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSampleso

Run 5185 quartetwise, Diffs0: Beam ON, Laser OFF

quanebwise_beami_last diif
Entries 0
Mean 0
Std Dev 0




90

80

70

60

50

40

30

20

10

Run 5185 quartetwise, NegHelAccO/NSamplesQ: All
quartetwize_negHQ
— Entries 2977
— Mean —-2.348
— Std Dev 01257
:II|—|IIII|IIII|IIII|IIII|IIII|IIII|III [
2.7 26 2.5 2.4 -2.3 —2.2 2.1 —2 -1.9
MNegHelAccD/NegHelNSampleso
Run 5185 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON
guamstwisa baami las® nagHD
Entries 0
Mean 0
Std Dev ]

a0

B0

70

60

50

40

30

20

10

Run 5185 quartetwise, NegHelAccO/NSamples(: Beam OFF

guarebwise_bsamd negkll

— Entries 2077
— Mean —-2.348
— Std Dev 01257
— 1 1 |—|I L 1 1 | 1 11 1 I 1 1 11 | 1 1 1 1 | L 1 11 | 1L 1 1 1 | 1 11 o 11

2.7 26 2.5 2.4 2.3 2.2 2.1 -2 -1.9

MNegHelAccO/NegHelNSamplesO

Run 5185 quartetwise, NegHselAcclVNSamples: Beam ON, Laser OFF

ﬂ.im.“““ﬂ kaami lasl HIIEH[I
Entries 0
Mean 0
Std Dev 0




90

80

70

60

50

40

30

20

10

Run 5185 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO
Entries 2977
Mean —2.348
Std Dev 1216

IIJ—|I|-|II|IIII|IIII|IIII|IIII|IIII|III

hlll

-2.7

2.6

2.5

2.4

2.3

2.2

2.1
PosHelAccO/PosHelNSamplesD

—2

Run 5185 quartetwise, PosHelAccO/NSamplesO: Beam ON, Laser ON

guamnsiwisa baami los! poskHc
Entries 0
Mean 0
Std Dev 0

a0

B0

70

60

50

40

30

20

10

Run 5185 quartetwise, PosHelAccO/NSamples0: Beam OFF

guarelwise_bsarnl pashd
Entries 2977
Mean —2.3468
Std Dev 012186

IIJ—|I|-|II|IIII|IIII|IIII|IIII|IIII|III

hlll

2.7

2.6

2.5

2.4

2.3

2.2

2.1
PosHelAccO/PosHelNSamplesD

-2

Run 5185 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF

auamstwiza baami lasl posko

Entries 0
Mean 0
Std Dewv 0




Run 5185 quartetwise, Sums0: All

_ quartetwize_summbD
Entries 2a77
100 Mean  -4.694
| Std Dev 0.183
BO—
BO—
40—
20—
o akn SN R E T S SRS NN RSN | ko ¥ R
52 -5 —-4.8 —4.6 —4.4 —4.2 —4

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso

Run 5185 quartetwise, Sums0: Beam ON, Laser ON

guamshwiza baami las! summi

Entries 0
Mean 0
Std Dev 0

100

B0

60

40

20

Run 5185 quartetwise, Sums0: Beam OFF

quartebwise beaml surmmd
| Entries 2977
Mean —4.694
Std Dev 0.183
1 |-|||-'-| 1 1 | 1 1 1 | 1 1 1 | 1 1 1 I 1 1 1 |_l|_r|-l_l-.l'| 1 I
-5.2 -5 4.8 4.6 4.4 4.2 —4

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0

Run 5185 quartetwise, Sums(: Beam ON, Laser OFF

guamstwiza boami lasl summd

Entries 0
Mean 0
Std Dewv 0




